ER-IERRREE-RR

TMTESA29B8RE

HEXEE ZEMASRE

T I T X ZEE
Eiast — KD R mER
TETHEEFLO M RS
X7 (BKE) FEMEEHELE |21
(EWKE) |TIERSIEHEE 162
RERERHEE [FEIRE=133
7k *E‘Sg:ﬁ*] FE)IFRE=10, 11.9)
BEANGRKT®R |_
=45 IZkBEHE
R E 5 EE 20m/s
ZRE FHRE 20m/s BEES
XE BEDFES 128 %S O FE30cm
KR HEES
= 80 BT .
X REWREREE |13
TIERMEEHEE 127
RERERHEE [FEILRE=106
7k *E‘Sg:ﬁ*] FE)IFRE=(10, 8.5)
BEAEKFE®R [
IZkBEHE
SRE E 5 EE 12m/s
RE FHRE 12m/s E&E5
XE BEDRE 2B RS DS 15cm
KR GEY T
EER =i AL
3 EEFICKYBEENTEINSEE
BE
-] Y E [100m
BrI% B/INTE40% CTEMZE65%
BN BEDREEA50ecmEHYBETRI10°CLLE RIZAEY DIER *°
KR SIESE-5CUTF "
] BaEHl RIEKBE1CUT
&K
= 245 MBI E DFES  FHh20cml £
SiR:-2°C~2°C

EEEREARER

i

[100mm

*UREWEEYR, RETEER) OEAEOEICLEEEEEFRLTOET,
*? SERERARREDIE,
¥ SRS RARRE DIE,



